RESOLUTION NO.

RESOLUTION AWARDING OF CONTRACT FOR 2023 PAVEMENT STRIPING OF VARIOUS COUNTY HIGHWAYS SECTION #23-00000-00-GM

WHEREAS, the following bid was received at a Public Letting held on March 30, 2023 in Urbana, Illinois, for the Pavement Striping of various County Highways:

Varsity Striping-\$127,651.90

WHEREAS, the County Engineer recommends to the County Board that the above bid be awarded; and

WHEREAS, the County Board of Champaign County concurs in the action recommended by the County Engineer.

NOW, THEREFORE, BE IT RESOLVED, the County Board of Champaign County does hereby award the above listed bid to Varsity Striping.

PRESENTED, ADOPTED, APPROVED and RECORDED this 20th day of April 2023.

	Kyle Patterson, Chair Champaign County Board
	Approved: Steve Summers, County Executive
Recorded & Attest:	Date:
Date:	



Tabulation of Bids

etting Date 03/30/23 23-00000-GM Section Number 61826 Varsity Striping P.O. Box 3055 City, State, Zip Champaign IL Proposal Guarantee Check Champaign County Bidder's Name Bidder's Address Attended By (IDOT Representative(s)) Champaign County Highway, Villages and Townships 4,596.00 \$144 Local Public Agency Approved Engineer's Estimate

Terms	Approved Engineer's Estimate
	Approve

						3						
Item No.	Item	Delivery	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
_	White Edge Lines, 6"		Lin Ft	225550	\$0.1200	\$27,066.00	\$0.1000	\$22,555.00		\$0.00		\$0.00
2	White Edge Lines, 4"		Lin Ft	868470	\$0.0900	\$78,162.30	\$0.0700	\$60,792.90		\$0.00		\$0.00
3	Yellow Skips, 4"		Lin Ft	205450	\$0.0900	\$18,490.50	\$0.0700	\$14,381.50		\$0.00		\$0.00
4	Yellow No Passing, 4"		Lin Ft	36100	\$0.0900	\$3,249.00	\$0.0700	\$2,527.00		\$0.00		\$0.00
2	Yellow Double Line, 4"		Lin Ft	38900	\$0.0900	\$3,501.00	\$0.1400	\$5,446.00		\$0.00		\$0.00
9	White Diagonal Line, 8"		Lin Ft	1030	\$1.0500	\$1,081.50	\$0.2000	\$206.00		\$0.00		\$0.00
7	Yellow Diagonal Line, 8"		Lin Ft	200	\$1.0500	\$525.00	\$0.2000	\$100.00		\$0.00		\$0.00
∞	Stop Bar		Lin Ft	1100	\$2.9000	\$3,190.00	\$3.2500	\$3,575.00		\$0.00		\$0.00
ര	Railroad Crossing		Each	15	\$250.0000	\$3,750.00	\$428.0000	\$6,420.00		\$0.00		\$0.00
10	8 Ft. Arrows (15.6 sq ft)		Each	12	\$65.0000	\$780.00	\$54.6000	\$655.20		\$0.00		\$0.00
1	Hi Vis Ladder Crosswalk, 12"		Sq Ft	1109	\$2.3000	\$2,550.70	\$5.0000	\$5,545.00		\$0.00		\$0.00
12	Int'l Symbol of Accessibility		Each	3	\$120.0000	\$360.00	\$16.1000	\$48.30		\$0.00		\$0.00
13	6" Single White Crosswalk		Lin Ft	1800	\$1.0500	\$1,890.00	\$3.0000	\$5,400.00		\$0.00		\$0.00

	\$0.00	
	\$0.00	
	\$127,651.90	(11.72)%
As Read:	As Calculated:	% Over/Under:
Total Bid.		

RESOLUTION NO.

RESOLUTION AWARDING OF CONTRACT FOR THE FURNISH AND SPREAD ON THE ROAD OF BITUMINOUS MATERIAL FOR 2023 MAINTENANCE OF VARIOUS ROAD DISTRICTS AND COUNTY HIGHWAYS IN CHAMPAIGN COUNTY

WHEREAS, The following low bid was received at a Public Letting held on March 30, 2023 in Urbana, Illinois, for Furnish and Spread on the roads of Bituminous Materials for the 2023 Maintenance of Various Road Districts and County Roads in Champaign County;

Illiana Construction Company-\$4,661,414.41

WHEREAS, The County Engineer recommends to the County Board that the above bid be awarded; and

WHEREAS, The County Board of Champaign County concurs in the action recommended by the County Engineer.

NOW, THEREFORE, BE IT RESOLVED, The County Board of Champaign County does hereby award the above listed bid to Illiana Construction Company.

PRESENTED, ADOPTED, APPROVED and RECORDED this 20th day of April 2023.

		Kyle Patterson, Chair Champaign County Board
		Approved:
Recorded & Attest	Aaron Ammons, County Clerk and ex-officio Clerk of the Champaign County Board	Steve Summers County Executive
	Date	Date:



Tabulation of Bids



Local Public Agency	c Agency					County	t>	Section Nur	Number	Letting Date	ate	,
Champaign	yn County Highway and	Townsh	ips			Chan	hampaign	23-XX(XX000-00-GM	03/30/23	3	
		Ö										
Engineer's	Estimate #4 200 224	(IDOT Repr	Representative(s))	e(s))		Bidder's Name	Illiana (Construction Co				
	0.					Bidder's Address	1414 W Ar	nthony Drive				
						City, State, Zip	Urbana, IL	61802				
					P	Proposal Guarantee						
						Terms						
					Approved Eng	Engineer's Estimate						
Item No.	Item	Delivery	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	HFE-90	F&S	Gallon	689387	\$2.9500	\$2,033,691.65	\$3.1500	\$2,171,569.05		\$0.00		\$0.00
7	HFP	F&S	Gallon	312592	\$3.1000	\$969,035.20	\$3.4800	\$1,087,820.16		\$0.00		\$0.00
က	PG46-28	F&S	Gallon	256580	\$3.7500	\$962,175.00	\$3.9400	\$1,010,925.20		\$0.00		\$0.00
4	MC-30	F&S	Gallon	19000	\$4.5000	\$85,500.00	\$5.1500	\$97,850.00		\$0.00		\$0.00
2	CM-300	F&M	Gallon	00069	\$4.7800	\$329,820.00	\$4.2500	\$293,250.00		\$0.00		\$0.00
				(%)	Total Did.	As Read:						
					<u> </u>	As Calculated:		\$4,661,414.41		\$0.00		\$0.00
						% Over/Under:		6.42 %				

RESOLUTION NO.

RESOLUTION AWARDING OF CONTRACT FOR THE FURNISH OF BITUMINOUS MATERIAL FROM THE PLANT FOR 2023 MAINTENANCE OF VARIOUS ROAD DISTRICTS AND COUNTY HIGHWAYS IN CHAMPAIGN COUNTY

WHEREAS, The following low bid was received at a Public Letting held on March 30, 2023 in Urbana, Illinois, for FOB, furnished from the plant, of Bituminous Materials for the 2023 Maintenance of Various Road Districts and County Roads in Champaign County;

Emulsicoat Inc. - \$27,600.00

WHEREAS, The County Engineer recommends to the County Board that the above bid be awarded; and

WHEREAS, The County Board of Champaign County concurs in the action recommended by the County Engineer.

NOW, THEREFORE, BE IT RESOLVED, The County Board of Champaign County does hereby award the above listed bid to Emulsicoat Inc.

PRESENTED, ADOPTED, APPROVED and RECORDED this 20^{th} day of April 2023.

		Kyle Patterson, Chair Champaign County Board
		Approved:
Recorded & Attes	t Aaron Ammons, County Clerk and ex-officio Clerk of the Champaign County Board	Steve Summers County Executive
	Date	Date:

\$0.00

00.

\$0

(5.65)%

\$27,600.00

As Read:

Total Bid:

As Calculated:

Over/Under:

%



Tabulation of Bids

Letting Date 03/30/23 Section Number 23-XX000-00-GM E University Ave 61802 Emulsicoat Inc. ᆜ Urbana, Champaign 705 County Bidder's Name City, State, Zip Bidder's Address Representative(s)) Attended By (IDOT Repre \$28,350.00 **Townships** Champaign County Local Public Agency Engineer's Estimate Approved

Terms

Proposal Guarantee

							and the state of
	Total	\$0.00	\$0.00	\$0.00			
	Unit Price						
	Total	\$0.00	\$0.00	\$0.00			
	Unit Price						
	Total	\$5,100.00	\$12,300.00	\$10,200.00			
	Unit Price	\$2.5500	\$4.1000	\$2.5500			
Approved Engineer's Estimate	Total	\$5,200.00	\$12,750.00	\$10,400.00			
Approved Eng	Unit Price	\$2.6000	\$4.2500	\$2.6000			
	Quantity	2000	3000	4000			
	Unit	Gallon	Gallon	Gallon			
	Delivery	FOB	FOB	FOB			
	Item	HFE-90	MC-30	HFE-150			
	Item No.	-	2	8			